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Complete the student information card as shown in the example.
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Complete each dialogue using the appropriate word from the box.
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Write the correct word under each picture from the box.
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Complete each dialogue using the appropriate word from the box. 17
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Write sentences as shown in the example.
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% Create a dialogue for each picture as shown in the example.
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Match each picture with the correct word and definition as shown in the example,
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Practice the dialogues with a partner as shown in the example.
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Combine two sentences as shown in the example.
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Answer each question as shown in the example.
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Create sentences choosing one phrase from A and one from B as shown in the example.
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ook at the pictures and answer each question as shown in the example.

[E7]] P TR —

|
Aol E He?

B : StH2 SI7Lt AJHAHE EIR

A dedo= BE E6lie?

B — N
22
A:EITS DHIT HS 8 5127
i
x =
]’I
i
2

A "ol AlZHo] LI 2 se?

A 7150l E1 HO™ {EH siR?

@ AJZH0| LICHto have time







